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- = 20154 2016 2 = 20154 2016
S = olak (A) | o2k (B) (%) = B off &k (A) | ofl &t (B) HIS (%)
g Al 81,367 78,587 97 81,367 78,587 97
2~ A 62,860 59,780 95 A 64,131 68,517 107
wxgse | 2 A 62,860 59,780 95 = 55,276] 57,370 104
! 56,360] 50,040 89 Zof 40,800| 42,000 103
x| R 2 =2 2,400 2,400 100 M2 as| 3,000 3,000 100
L] 500 500 100 e 3,100 3,500 113
e 3,600 6,840 190 EEEE! 3,008 3,500 90
e A 6,200 5,400 87 MEEEES 4,168 3,920 94
azse | = A 6,200 5,400 87 e e 300 1,450 483
T Es 6,000 5,200 87 = 800 1,000 125
HErEaT 200 200 100 J|m2 | 500 400 80
M3 2 A 9,000 8,000 89 SRS ST 0 0 0
Moz = 9,000 8,000 89 3| 9| 300 600 200
Sarhis 9,000 8,000 89 = 8,055 10,147 126
a3 2 7 2,500 5,000 200 ol 200 400 200
olgz = A 2,500 5,000 200 e 2 480 2967 120
MuzolgE 1,000 4,000 400 zze3 720 1,200 167
E“iffol 1,000 1,000 100 e 740 1,640 002
ffgéﬂ 500 0 0 Rhesu| 1,700 1,660 98
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= - of &F (A) of &k (B) ZoH IS (%) - = - of &+ (A) of &F (B) =oH HIS (%)
Py 7 7 0 100 bt 500 500 0 100
| = A 7 7 0 100 RHabz S| 500 1,180 630
vl el ey 7 7 0 100 7|Ete o] 1,215 600 -615 49
2~ A 800 400 ~400 50| otz | A A 0 0
| = A 800 400 -400 50 Al Al ]
e 400 400 0 100 R
o E=3-= 400 0 Ateda A~ A 7,236 9,070 1,834 125
Afeis] = A 7,236 9,070 1,834 125
H5 530 1,140 610 215
ns 2,536 3,630 1,094 143
25t 3,370 3,050 -320 91
HA X 2 300 850 550 283
x| &4 xh2l o4 7 500 400 -100 80
24| B 10,000 1,000 -9,000 10
24| =N 10,000 1,000 -9,000 10




